

C-H の定理

$$A \in M_3(\mathbb{R}) \text{ に対して } \Phi_A(A) = 0_3$$

(証明)

$$(\lambda I_3 - A) = B(\lambda) \text{ である. 各成分は } \lambda \text{ の 2 次式である}$$

ので

$$B(\lambda) = B_2 \lambda^2 + B_1 \lambda + B_0$$

と書ける.

$$(\lambda I_3 - I_3) B(\lambda) = \Phi_A(\lambda) I_3$$

である. Φ_A は λ の 2 次式である. $\Phi_A(\lambda) = \lambda^2 + a_1 \lambda + a_0$ と書ける.

$$\Phi_A(\lambda) = \lambda^2 + a_2 \lambda^2 + a_1 \lambda + a_0$$

Σ(2) による

(2)

$$\lambda^3 \quad \mathcal{R} = 3 \quad B_2 = I_3 \quad (3)$$

$$\lambda^2 \quad \mathcal{R} = 2 \quad B_1 - AB_2 = a_2 I_3 \quad (2)$$

$$\lambda \quad \mathcal{R} = 1 \quad B_0 - AB_1 = a_1 I_3 \quad (1)$$

$$\text{定数項 } \mathcal{R} = 0 \quad -AB_0 = a_0 I_3 \quad (0)$$

$$A^3 \times (3) + A^2 \times (2) + A \times (1) + I_3 \times (0)$$

計算する.

$$T_1(A) = A^3 + a_2 A^2 + a_1 A + a_0 I_3 = \overline{P}_A(A)$$

$$T_2(A) = A^3 \cdot B_2 + A^2 (B_1 - AB_2) + A (B_0 - AB_1) - AB_0 = O_3$$

∴

$$\overline{P}_A(A) = O_3$$